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log ∆L  luminance difference
threshold Lg=630cd/m2
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log ∆L  luminance difference
threshold Lg=63cd/m2
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log ∆L  luminance difference
threshold Lg=6,3cd/m2
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average

A1    A2    A3      ∆
0.038 0.92 0.019 0.007
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0.067 0.845 0.01 0.002
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log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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average

A1    A2    A3      ∆
0.038 0.92 0.019 0.007
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0.067 0.845 0.01 0.002
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L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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average
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0.038 0.967 0.334 0.007
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0.015 1.265 0.378 0.001
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L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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average
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L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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data & P−A3−fit
4/2 26s A&B
average

A1    A2    A3      ∆
0.038 0.92 0.019 0.007
A1    A2    A3      ∆

0.067 0.845 0.01 0.002


